(I )2 las) ulidal (02) pd) deadead) (oplad Jpls

) (o palll o

tllsdall iall o —1
X={0,1,2,3}

P dtall 13gh ALaiay) auj gl ¢ g3 Al -2

0= { (TTT),(FTT),(FTF),(TFT),(TTF),(FFT),(FFF),(TFF)}
tG(TTT) o 5 dnanall je ilsdll Lo el ¥ Vs 8 (i (o Banly Alls llia & Dlie
(P(X=Xi) shaudl) Jsaall Slas dylall 03 ¢ 0= X

iX 0 1 2 3 >

POX) |13 3 | 1| 1
8 8 8 8

iX P(X=Xi) 0 E 9 9 E

8 8 8 8

Xi 2 0] 1 4 9 /

ixepx=xi) |0 3| 12| 2 3
8 8 8

iodlel Jsaall 8 daimge cilileal) : piiall 13g) culill) g palisl) a1 -3
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V (X) = E(x?) - E(X)? =54/8 - (12/8)*=3 - 2.25 = 0.75.



